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cia (name E%, region #l&, area [Ef&, population A, gdp BIERAEEHE)
1
a  Show the name, region and population of all countries. 5| FrE % ~ & -~ A

b  Give the name and the per capita GDP for those countries with a population of at
least 200 million. %[44 A%/ 2x10°8 BYEIZ 4F% - AIIUL A (=GDP/ A )

¢ Show the name and population (in millions10°) for the countries of 'South America' %l|
HATAE R R - AT (PLEE R
Show the population for 'France’, 'Germany' & 'ltaly’ %[44 ~ {EE ~ FAFAIA L
Identify the countries whose names include the word 'United'. #4fEH& United HYER 52

f Which countries have populations larger than 'United States'? IF2E[ERZZ A CIELZEE] 2%
g Listthe regions that contain 'lraq’ or 'lran' L |8 57 & LL i[5 ?
h  List all details of countries in the regions containing 'lrag’ or 'lran’
FIHE DA E B R gt N ET R B R s H Bk
i Show the European countries with a per capita GDP greater than that of 'United
Kingdom' “HUFLLEIOMNEIZRZ BT AITUA - BEELIEE]26?

] Which country has a population that is more than Kenya but less than Canada?
WL Ry A\ CIEEE A D - HEEIIZEARZ?

k  Which countries have a GDP greater than ANY European country?
IIBLL BRI Z V4RI A » ELAE AR —(EBION B 5 2% ?

[ Find the largest country in each region. ¥I|{H&EHIE - HfE R KAV Z 41E
m  Find the region in which all countries have a population of less than 1
eI - & NAYFTA IR A 185/ 0)s 12
n* Some countries have populations at least three times
that of any of their neighbors (in the same region). Give the countries and regions.

AEERIAL > EREEMEEAIAOZED 3 VI - KTt -

o The names and population densities for the very large countries (over 3x10°)
WREL R ZR AT TR 3x10° - B 44T « A I (A L1/ %)

p  Find those very small (less than 4x10°) but very rich (GDP over 10'?) countries.
HHFTA ERE/ D7 4x10°  [BIEH &4 (GDP %1 107)HIE%

g  Which of following is/are country name(s)? Ceylon, Iran, Persia and Sri Lanka
DA EWREe 2 B R 442
r What are the countries beginning with 'D'? BFEE[ER 2 #4482 LU'D' S F0E?
s Which countries are not too small and not too big (4x10°-3x10°%)? ifEif& H &1 E %
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2 Aggregate 42451 functions pf#; such as COUNT, SUM, MAX, MIN and AVG
a  Show the total population of the world. 4=Ek%& A [1%%/)?

b List all the regions without repetition. ¥I|HHFrEHIESLTE (RNA[EKE)
How many regions are there? 752/ D{EHI[E?

c List the countries with GDP greater than the whole of Africa
FLLER 2 GDP KA JEMEIZR Y GDP 48017

d  For each region, show the region and number of countries. Hr[& K & NH %/ DE5

d,* Find the largest and the 2nd largest countries (with areas) of each region.

il E AR~ R BN R ERHY 2 HEZE (W/HERER)

e For each region, show the region and number of countries with populations of
at least 10 million (107). & {E#E - AIZE/D 10' IEEIZE %702

f List the regions with total populations of at least 100 million (10%).

DRt EHI4E A 1%/ 10° » Fi] st I 44 F 48 A 1
g The total population and GDP of Europe. EMNEY4E A1 K GDP

h  Show the large countries (over 3x10°) in descending order of population.

FIHERE AR 3x10° MBI » #5 A I (FAZ /NS

i The regions with total populations and areas, sorted by population.

SRR ER AT A O ~ AR - 2 ACIHRY

] The regions with total populations and areas, sorted by population. [&] _F -
Include only those regions with names that include 'America’. {H R EZEREMEIZ

k  Show the countries with area smaller than 'United Kingdom'
but with larger population than UK. WELE S HEFEEE UK /)N » {H A AR UK 26?2

I.  How many regions are there? £Ek3t:5325/ MEHIE?
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3 (ACME accounts) Invoices and receipts % ~ Ui
table: customer & &

table: product [ L4R5E - 447 - BE(E

cust id|cust name |cust addr prod_code |description ZE i 41 unit_price
C001 |Wile E Coyote |www.hotmail.com P0O01 Anvil 75
C002 |Sylvester www.warnerbros.com P002 Portable holes 5
C003 |Tom Brown www.mgmt.com P0O03 Horseshoe magnet 80
C004 |Elmer Fudd www.yahoo.com P004 TNT 50
CO005 |Dick Dastardly |www.email.com P005 Bomb 50
P006 Elastic band 2
P007 Rocket roller skates 80
P008 Space ship 60000000
P009 Road sign "Diversion Left" 30
PO10 Road sign "Diversion Right" 30
table: shipped &4){<i&E table: receipt Uiz
cust id| ship date |prod code| quantity cust id | rec date | pay term | amount
C001 10-Jul-98 P003 1 C001 15-Jul-98 Cheque 80
C001 22-Jul-98 P004 2 C001 23-Jul-98 Cash 700
C001 22-Jul-98 P0O05 12 C005 10-Feb-98 DD 5
C001 23-Jul-98 P0O05 12 C005 10-Mar-98 DD 5
Co001 23-Jul-98 P006 1 C005 10-Apr-98 DD 5
C001 23-Jul-98 P0O0O7 1 C005 10-May-98 DD 5
C005 01-Jan-98 P0O08 1 C005 10-Jun-98 DD 5
C005 10-Jul-98 DD 5

Q — O© O O T Q©

How many customers are listed on the database? #{5[E T 75 %/ ERAZE?
Identify customers 'C001', 'C005' EE%& 4 fH
Identify products 'P001', 'PO07" & H44f%
How many receipts are on the system? g 5%/ DI TiE?
View the payments made by customer 'C001" EH%Z'C001" HY{-J3KIE M
View the shipments made to customer 'C001' by date order EEZ V&Y & E N
Prepare a list of all items purchased by customer 'C001'. Show the date, the product

description, the unit price, the quantity shipped and the total value (quantity * price).

H#'CO01'

ST

(Bf% : HE -~ Eaafl - BE - BE& - @E)

h  Calculate the total value of all items shipped to customer 'C001' on '23-JUL-1998'".
BH7'C001" {£'23-JUL-1998'HYF T BLAH(E % /D
i Prepare a shipping statement &§%{<f## . for customer 'C001' it should show the date,
the legend 'Delivery' and the total value of the products shipped on each day. WV\/EZH

AN SA=ER
Prepare a receipts statement g#g for customer 'C001' it should show the date, the

Ed=Y

E\Dné1ﬁ

notes(pay-term {72 /5=) and the amount received UZ 2[5k IE.

modified by CY Szeto
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k  Use the UNION command to prepare a full statement E4& for customer 'C001". It
should be laid out #[1 N &7~ as follows. (Note that the values shown below are not
correct.) You may be able to use " or NULL for blank values - if necessary use 0.

10-JUL-1998  Delivery 100.00
15-JUL-1998  Cheque 100.00
22-JUL-1998  Delivery 210.00
23-JUL-1998  Delivery 45.00
23-JUL-1998  Cash 255.00

I Create a list showing the outstanding balance 4&¢5 for each customer 7.

4 Edinburgh Buses ETE2B1&{&

Self-Join
f. Give a list of all the services which connect stops 115 and 191. (‘Haymarket'
& 'Portabello") Wb -4 S (R ) DL N Wik 115,1917

g. Give a list of the services which connect the stops 'Craiglockhart' and
"Tollcross' WFEEE +-45 & (28 52) LU N WAk Craiglockhart' and 'Tollcross'?

h. Give a list of the stops which may be reached from 'Craiglockhart' by taking
one bus. Include the details of the appropriate service.

H 'Craiglockhart' Hi#% » 35 Hofe— (A EE) - A DABEPLEELBE? FEERYIHE
TR ER

i. Show how it is possible to get from Sighthill to Craiglockhart.
FEorafar g Sighthill s +-#1)%E Craiglockhart?

You might intersect all the places from Craiglockhart with all the places from
Sighthill. This would at least be a start.

modified by CY Szeto sqlzoo page 4
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SQL exercise with solutions (to be run on MySQL)

e

ships (B%,%545)

battle (¥, M=)

B4 | OW,X,Y,Z

¥ | shipA,shipB,...

#gre: | B1,B2,B3,B4

T

create table ships(
Countrychar(1),
Ship  char(b)

create table battle (
Battle char(2),
Ship  char(5),
Status char(7)

ffi¥¢ Damaged );
ymi< Sunk
Write SQL statements for the following queries: B SQL ?ﬁ F[J s HE )R gﬁ—ﬂ

insert into ships values

¢'w","shipJ"), ("wW","shipK™), ("W","shipM™), ("W","shipN"), ("X","shipA"),
' X","shipB™), ("X","shipC™), ("X","shipD"), ("Y","shipP™), ("Y","shipQ"),
¢'y","shipR™), ("Y","shipsS"), ("'Y","shipT"), ("Z","shipE™), ("Z","shipF"),
'z","shipG™), ("Z","shipH"), ("O","shipO™);

insert into battle values

'B1","shipA","s™), ("B1","shipB","d"), ("B1","shipC","ok™), ("B1","shipD","d"),
¢'B1","shipP","s™), ("B1","shipQ","d"), ("B1","shipS","s"), ("B1","shipT","d"),
'B2","shipP","d"), ("B2","shipQ","s"), ("B2","shipR","ok"), ("B2","shipS","d"),
'B2","shipT","s"), ("B2","shipF","s"), ("B2","shipG","s"), ("B2","shipH","d"),
('B3","shipA","d"), ("B3","shipB","s"), ("B3","shipC","d"), ("B3","shipD","s"),
'B3","shipQ","s"), ("B3","shipR","s"), ("B3","shipS","s"), ("B3","shipT","s"),
('B3","shipE","ok™), ("B3","shipF","d"), ("B3","shipG","s"), ("B3","shipH","0ok"),
('B4","shipA","ok"), ("B4","shipB","s"), ("B4","shipC","s"), ("B4","shipD","d"),
('B4","shipE","s"), ("B4","shipF","d"), ("B4","shipG","ok™), ("B4","shipH","0ok");

update battle set status="OK" where status="ok";

update battle set status="Damaged" where status="d";
update battle set status="Sunk" where status="s";

by Szeto CY —1-
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(1) total number of ships involved in each battle = 838§ /&1 o Gt |

battle | count(*)
Bl 8

B2 8

B3 12

B4 8

(2) number of ships involved in each battle for each country

ki At | NN e e e R et 3 LA

battle country nShips B3 X 4
B1 X 4 B3 Y 4
B1 Y 4 B3 4 4
B2 Y 5 B4 X 4
B2 z 3 B4 4 4

(3) number of countries involved in each battle =88 L1 > 2T EISHrT |

battle | nCountry
Bl 2
B2 2
B3 3
B4 2

(4) count the no.of sunk, damaged & survived ships for each country in different
battles = S8 1> 2252 Bl o) R SHp 2 Bt !

battle | country | status count(*) | battle | country | status count(*)
B1 X Damaged | 2 B3 X Sunk 2
Bl X OK 1 B3 Y Sunk 4
B1 X Sunk 1 B3 Z Damaged | 1
B1 Y Damaged | 2 B3 Z OK 2
Bl Y Sunk 2 B3 A Sunk 1
B2 Y Damaged | 2 B4 X Damaged | 1
B2 Y OK 1 B4 X OK 1
B2 Y Sunk 2 B4 X Sunk 2
B2 Z Damaged | 1 B4 Z Damaged | 1
B2 Z Sunk 2 B4 Z OK 2
B3 X Damaged | 2 B4 Z Sunk 1

by Szeto CY
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(5) which country has not involved in any battle <7 %% = [P iLavE% (W,0)

(6) total number of ships sunk (not sunk) in each battle
£ IS L {2 S O

battle | nSunk
Bl 3
B2 4
B3 7
B4 3

(7) number of battles involved for each country (1+,0+) = {fil[ssi5 s =8 (AUET |

country | nBattles
X 3
Y 3
z 3
0] 0]
W 0]

(8) total number of ships sunk (not sunk) for each country in each battle
5 [+ 5 I TN R

battle | country |nSunk
Bl X 1
Bl Y 2
B2 Y 2
B2 Z 2
B3 X 2
B3 Y 4
B3 z 1
B4 X 2
B4 Z 1

(9) name of ships which have never sunk in any battle
o T (PSSP Y [0 €78 (shipH)

(10) the countries of which some ships have not sunk in battle "B3"
PR o T PR 2 b RS N9 (Y.2)

by Szeto CY -3-
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(11) name of ships which sank in each battle = {f# & » jh’islﬁﬁ;@;ﬁ@ %

battle | country | ship nSunk
B1 X shipA |1
B3 X shipB 2
B4 X shipC 1
B3 X shipD |1
Bl Y shipP 1
B2 Y shipQ |2
B3 Y shipR |1
Bl Y shipS |2
B2 Y shipT 2
B4 Z shipE 1
B2 Z shipF 1
B2 Z shipG |2

(12) the country of which all ships have sunk in battle "B3"

PRERIE o B B3 [ 2 HRB L ()

(13) find the total (average) score of each country in each battle
* according to the following rules: ||

* 2 points AU OK
* 1 point 1% Damaged
* 0 point 3¢ Sunk
country | battle | total
X Bl 4

X B3 2

X B4 3

Y Bl 2

Y B2 4

Y B3 0

Z B2 1

Z B3 5

Z B4 5

by Szeto CY
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Tables:
“[<= Sailors

ifi="Reserves  (sid, bid, day)

’ﬂﬁ% Boats

(bid, bname, color)

(sid, sname, rating, age)

Sailors7~= Reservesifis’
|
SID SNAME RATING AGE SID BID DAY
10 Dustin 1 45 64 101 2010-10-1
29 Brutus 1 33 22 101 2010-10-2
85 Art 3 25.5 22 102 2010-10-3
95 Bob 3 63.3 31 102 2010-10-4
96 Frodo 3 25.5 64 102 2010-10-5
22 Dustin 7 45 31 103 2010-10-6
64 Horatio 7 35 22 103 2010-10-7
31 Lubber 8 55.5 74 103 2010-10-8
32 Andy 8 25.5 31 104 2010-10-9
74 Horatio 9 35 22 104 2010-10-10
71 Zorba 10 16
58 Rusty 10 35 s qjﬁ_y E‘EIF—EIT FI H
Boatsi &
BID BNAME COLOR
101 Interlake blue
102 Interlake red
103 Clipper green
104 Marine red

age

);

color

);

// create tables
create table Sailors(
sid int not null primary key,
sname varchar(20),
rating int,

// drop tables if exist.
drop table Sailors;
drop table Reserves;
drop table Boats;

decimal(4,1)

create table Boats(
bid int not null primary key,
bnamevarchar(20),

varchar(20)

T:"“é‘]“
“HE

sid int,
bid int,
day

date,
primary key (sid,bid,day),

create table Reserves(

foreign key (sid)
references Sailors(sid)
ON DELETE CASCADE,
foreign key (bid)
references Boats(bid)
ON DELETE CASCADE




insert into Sailors values
(22,'Dustin',7,45.0),
(29,'Brutus’,1,33.0),
(31,'Lubber’,8,55.5),
(32,'Andy",8,25.5),
(58,'Rusty',10,35.0),
(64,'Horatio’,7,35.0),
(71,"Zorba’',10,16.0),
(74,'Horatio’,9,35.0),
(85,'Art',3,25.5),
(95,'Bob’,3,63.5);

Exercises:

insert into Boats values
(101,'Interlake’,'blue"),
(102,'Interlake’,'red"),
(103, 'Clipper','green’),
(104,'Marine','red"),
(109,'HKSAR','pink’);

insert into Reserves
values

1) "Find all sailors with a rating above 7" & 7<= (ratingf,!,jﬁé‘?)

2) "Find sailor name, boat id and date for each reservation” H‘jﬁ

3) "Find the names and ages of all sailors" Hre <= % ¢ ~ & i

4) Find the names of sailors that are 30 or older 77| <= #t (¥

(22,101,'2010-10-1"),
(22,102,'2010-10-2"),
(22,103,'2010-10-3",
(22,104,'2010-10-4"),
(31,102,'2010-10-5",
(31,103,'2010-10-6"),
(31,104,'2010-10-7"),
(64,101,'2010-10-8"),
(64,102,'2010-10-9",
(74,103,'2010-10-10");

T A

gr30 W)

5) Find the names of boats that have been reserved on 01/10/2010 &#f\"éjpﬂ[ﬁ

“i“F' ‘ﬂﬁ%( )

6) "Find the sid of sailors who have reserved a red boat’

(AR D

7) sailors whose name begins and ends with B and has at least 3 characters i+

R £ (E D3R | B

8) "Find the average age of all sailors”

AT B i

Lgrary)

9) "Find the average age of sailors

with a rating of 10"

10) Find duplicate sailor names f511% £ I[Flv <=

11) Find for each boat, the total no of reservations %ﬂéﬁiﬁ%ﬂﬁp JjEﬁT?F’@r
(b) show boat name

(a) show boat id

12) Find for each boat name, the no of different sailors that reserved it 5f 512 f

‘ﬂﬁf? TRE 2 J/IFT {fl frofe= jFlﬂ

13) Find for each boat, the no of different sailors that reserved it on

01/10/2010 (fjil F-, 7% ™)

14) "Find the sid & names of sailors who have reserved boat number 103"
// EH = thpvﬁ:*boat#los 22,31,74

fl

~2 ~



15) "Find the names of sailors who have never reserved boat number 103"
[/ B = A FI ='boat#103: 29,32,58,64,71,85,95

16) "Find the names of sailors who have reserved a red boat"

// ﬂﬂﬁf-fﬁfguglﬁ red boat: Dustin, Lubber, Horatio

17) "Find the colors of boats reserved by Lubber" {* T; ;Ff: xpﬁf Epug e
// red, green

18) "Find the names of sailors who have reserved at least one boat"

/] B J‘Iﬁpjﬁr—, iR : Dustin, Lubber, Horatio

19) "Find the names of sailors who have reserved a red or a green boat"

[/ HE= %Tjﬁﬁ*;fﬁﬁﬁ% (red or green): Dustin, Lubber, Horatio

20) "Find the names of sailors who have reserved both red and green boat"
[/ HE F‘ﬁ T3 ﬂ IHHjP-%(red and green): Dustin, Lubber

21) "sid of sailors with age over 20 who have not reserved a red boat"
/] F55=>20, ({5 E[F i red boat: Brutus, Andy, Rusty, Horatio(74), Art, Bob

22) "names of sailors who have reserved at least two different boats"
// %’Jﬂﬁ?ﬁiﬁ@%j\ [ﬁjﬁ‘j’ﬁ%: Dustin, Lubber, Horatio

23) "Find sid of all sailors who have reserved green but not red boats" F,J?Ergfif_}
green boat, fﬁlsﬁ‘EF%HHred boat: &= sid

24) "Find the names of sailors who have reserved green but not red boat"
// F,J?Ergfiggreen boat, [’Eﬁ&"ﬁr lﬁ}red boat: Zi+ <=t ¢ Horatio

// Q20 "Find sid of sailors who have a rating of 10 or have reserved boat 104"

25) "Find the sid and names of sailors who have not reserved a red boat" &4

.

Flﬁ i it red boat:

26) "Find sailors whose rating is greater than sailor called Horatio"
// rating 4% (a) - (i (b) 5F) £)fil[Horatiofiv-f+=

(a) some/any [={f~ i (=min) (b) every/all & (>max)

27) "Find the sailors with the highest rating" E‘:ﬁﬂratingﬁfﬁff

28) "Find the name and age of the oldest sailor" &= Kfu-f<=

29) "Count the number of sailors™ 7<= [z * gy

30) "Count the number of different sailor names" ~~= f £AvEy (7 f' £110)

~3~



31) Find boats NOT reserved by the sailor with sid=31. <= #31 } Fji* ﬂﬂf[y

32) "Find the names of sailors who are older than the oldest sailor with a
rating of 10" #[iE= = (rating1Of| & F RU-=) PIF =

33) "Find the age of the youngest sailor for each rating level”
Sratingit {Ifl 1, f&F Ry

34) "Find the age of the youngest sailor who is eligible to vote (age>=18)
// for each rating level with at least 2 such sailors™ & ratingsi- [f[J{1, %iﬁ}lSﬁjﬁﬂi

B, BRI b2

35) "Find the no of reservations for each red boat" % {gred boatf Jjﬁr:[”»g\r

36) "Find ____ age of sailors for each rating level that has at least 2 sailors"z
ratingi® {11, 1+ [ (@) £ i (DYRFF B9, SR AT E P2
(a) average (b) maximum

37) For each boat, identify sid the of sailor who made the highest no of
reservations. - fi]ﬁﬁjﬁ,, Er:[”hg'ﬁﬁ LR IV

insert into Reserves values
(64,101,'2010-11-1"), (64,102,'2010-11-2"),
(31,103,'2010-11-3"), (31,104,'2010-11-4");

38) Identify the boat with most reservations. ﬂﬂlﬂﬁiﬂﬁﬁ ﬁﬁﬁ*ﬁg\rﬁi %

39) For each boat, find the number of times it has been reserved;
including those boats that have never been reserved (list boat id and name).

B RIS RTIVIR S ) pUTEET R

40) ldentify all sailors who have never reserved a red boat.
M= fs = fEA 5 Flﬁ IHred boat. NOT(22,31,64)

41) Find the sailors who have at least 10 reservations for red boats.
L ’Pgiﬁﬁiﬁ}loﬁ’red boat
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